701 7"7 'on 2,25 2" .70

And how much; Rav Yeyvoh said, etc. — 9932 K295 29 %K 77D

OVERVIEW

The X nx established the Xn»93, which required distancing a wall from (a wall
with) windows, in a case where the wall was perpendicular to the window wall.
The &3 asked how far must the distance be, and X2* 27 answered, the width of
the window. Shortly the X713 asked again, how can we say that we need to distance
the width of the window, but the 71wn states that we need to distance Nk "7 from
the window. Moo1n assumed that these two questions (7723, and 30 DR '7) were
asked by the same jwpn, which leads to NdOIN question.

mooin asks:
= 159K Y29N 1IN 7299 251 N2 NNIDY YYa XNAYNT NI

And it is astounding! For now the jwpn asks, and how much must he distance
the wall from the windows, and later the jwpn asks, but we learnt that he must
distance R "7 (so how can X2» " say 1217 2m X9n)?!

nBoIN answers:
— 2N9) DY 1129 Y¥a N9 NI 297 990 U

And one can say that 83> 29 himself asked '3 and answered, but it was not

the Jwpn of the X913 who asked 'm0 -
$(7031 HNHNN M7 DY KX 97 X¥n 813) SININDN TN W NT 139D

And something similar to this is found in NN X ¥R P95,

SUMMARY
Sometimes the one who answers is the one who asked.

THINKING IT OVER
Why would X2 " assume that the Xn>2 is independent of the mwn?* And is it?

!'Since the Jwpn knew that the distance is NMX "7 (as he asks later), why did he ask now 7n1?!

2 Xx2» " asked ">, for he assumed that this Xn*12 of 908> X5Ww 72 is independent of our mawn, so he did not assume
that the distance of the m1wn applies to the Xn»12. The jwpn later, who asked mink '7 110 1IRM, was a new Jwpn (not "
®2") and he understood that the X072 is merely an elaboration of the 72w (not an independent Xn*92), therefore he
asked on X2» ". Therefore there is no question since there are two different 2°wpn. See ‘Thinking it over’.

3 The x7m3 there asks on the 71wn regarding nMAMon Mo that one may keep, 'm31, and x> "1 answers MaR 12 2p.
See the mooin there that it is evident from the continuation of the X713 that prg® " was the one who asked 'n2Y' and
he gave the answer, w">y.

4 See footnote # 2.
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